
1.

(a)

Pr
£
Ā ∪B ∪ C¤ = 1− Pr(A ∩ B̄ ∩ C̄) =

1− Pr(A ∩ B̄) + Pr(A ∩ B̄ ∩ C) =
1− Pr(A) + Pr(A ∩B) + Pr(A ∩ C)− Pr(A ∩B ∩ C) =
1− .5 + .21 + .25− .12 = 0.84

(b)

Pr
£
Ā ∩ (B ∪C)¤ = Pr(B ∪ C)− Pr[(B ∪ C) ∩A] =

Pr(B) + Pr(C)− Pr(B ∩ C)− Pr[(A ∩B) ∪ (A ∩ C)] =
Pr(B) + Pr(C)− Pr(B ∩ C)− Pr(A ∩B)− Pr(A ∩ C) + Pr(A ∩B ∩ C) =
.54 + .53− .30− .21− .25 + .12 = 0.43

2.

(a)

Pr
£
A ∪ B̄ ∪ C ∪ D̄¤ = 1− Pr(Ā) Pr(B) Pr(C̄) Pr(D)

= 1− 0.58× 0.23× 0.19× 0.54 = 0.98631

(b)

Pr [A ∩ (B ∪ C) ∩ (A ∪ C ∪D)] = Pr[A ∩ (B ∪ C)] =
Pr(A)× [Pr(B) + Pr(C)− Pr(B) Pr(C)]
= 0.42× (0.23 + 0.81− 0.23× 0.81) = 0.35855

3.
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(b)
4× 9× 8× 7× 9! + 9× 8× 7× 6× 9!

13!
= 29.37%

4.
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µ = −11× 5

18
− 6× 5

9
− 1× 5

72
+ 39× 5
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= − 7
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= $36.07

(b)

(z−11× 5

18
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9
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216
)4 → 66.42%

5.

(a)

−0.02√
8.7396

3.778

(b)

1√
2π × 8.7396× 10000

Z ∞
0.5

exp

µ
−(x+ 0.02× 10000)

2

2× 8.7396× 10000
¶
dx = 24.88%

6.

(a)

exp
³
3(z2 − 1)

´µ z3

3− 2z3
¶5

z−5

(b)
76.46%

7.

(a)

Λ = (60 + 52− 17)× 5.3/60 = 8.3917

1− e−8.3917
10X
i=0

8.3917i

i!
= 22.48%

(b)

Λ1 = (60− 17)× 5.3/60 = 3.7983
Λ2 = (75− 17)× 5.3/60 = 5.1233

e−3.7983
4X
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8.

(a)
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9.
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10.

(a)
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(b)
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11.

3



(a)

10X + 5Y − 3(8−X − Y ) = 13X + 8Y − 24
8(13 · 1

13
+ 8 · 3

13
)− 24 = −1.2308r

8(132 · 1
13
· 12
13
+ 82 · 3

13
· 10
13
− 26 · 8 · 1

13
· 3
13
)
44

51
= 11.651

(b)

1−
¡
4
1

¢¡
12
1

¢¡
36
6

¢
+
¡
4
1

¢¡
36
7

¢
+
¡
12
3

¢¡
36
5

¢
+
¡
12
2

¢¡
36
6

¢
+
¡
12
1

¢¡
36
7

¢
+
¡
36
8

¢¡
52
8

¢ = 37.70%

4


